1.

(e & A 0 F A%
36)%)1 2 A ), @

=t 17olet. Tkt

of 58 ot 2

® 1270 @ 1370

|
ay

{(2a—3b)3(2a+

® 647\



a, b9

=11
=

=
=

a, b7} A5 W, (a+ 26)(3+4i) + 5(1 - bi) = 02 Tk

2.

V-1)

ol 2 (2

@ 2 ® 3 @ 4 ® 5

1



olJ
K
‘_t
K
o_e

K
()
Nfo
<

ol
ol

@ y=x(x-1)

® y=2(x-3)?

@ y=-x>+4x-3

@ y=3x2-x+2

® vy

(2x +1)(2x - 1)



dry=x-2x+39xd HY’T0<x <1 4, 9
B2 WS FoE?
® -2<y<3 @ -2<y<2 ®0<y<3

<

lo



5. APRFA] 3xt - by
=1 - +4X—7 Al =
o717} 4x - 5.9 o, o] 214 ]f— ;;T A

@ 3x2-2
@ 3x% -
x“—1 ® 3x2

@ 3x2
+1 B 3x2+2



6.

P-x+1=04 1, x° —|—

D -2 ® -1

L o) grey

® 0

@ 1



2 o, 2
quq}@_%%ﬂx 3x l_x x—3 2_

x—1 x+1 +}_
A= B9 g SARAHL ol gato] Fatolat,

Ax+B
x(x=1)(x+1) oI



xofl TF A %+ mx? +nx +1& x+ 12 YA Y7 -5
o|i, x - 2& W U2 ZF 10]2ka §trt o] wff, A m,n
it m + n2?

D -1 @ 0 31 @ 2 ® 3



1A ax + b

5 75

EEE

(x)E x-2, x+ 22 WS o, Umx)7h 2k 5, 302t
¥ —42 YE



10. T B raxl+bx+cE x4+ 22 Y FEH 30| El, 212 YFH
Holxit, o] uf, abe 9] FS FSHH?

e =
c



11, T 5 (@ +0)2 - 40202 & 7] Q1%

@ (a-b)*(a+b)?
® (a-b)*(a®+b?)

® (a-b)(a+ b)(a® + b*)?



12.

2007 x 2008 + 1

20073 - 1 o] 7499

@D 2004 @ 2005

A 2006

@ 2007

3 2008



13, HAFS7F o - 3x 4 2010, HFF7E v - 19 o, o] 2]
AS7E 19 F ThkAle] g et

®2etx-1  @22-x-1  ®2a-xil

@ x2-x-2 B x2-x+29



14.

x O gt oA A = 42 +ax+ b, B=x*+bx+a 9] N5 G
7h x ol ek YaAo|IL A+ B =G(px+4q) @™, & a+b+p+q
o] gk2?

D -1 @ 0 31 @ 2 ® 3



Tod

S

4 a,b ol f

HEA7]E A

=
=

(a + bi)z

-

1-i,
7\/5 =
a? + b2 9]

=

15.

@ 2 3 3 @ 4 ® 5

@D 1



16.

e

Sto] a+bi ©] 2 Lk 1), ab o] g Fololet.

e &
c



17. AF abpol Hoto] AibE axb = o® + b B Zgrh FA A
x#(x—6) =09 F T2 a.pet & W, o+ 289 & FStolzt (T
a<p)

YER
=%



18.

o)A AA x2 4 6x+a=09] T
Fotodet, (H a, b= AFolal i =

g
-



o2 a, bt o, axb

b

09}

3x2 - (V3+3)x+3

|
=

el

A%

o

oJ =}

19.

olJ
N

o

A 0 @ 1 ® V3

@ -1






21.

tFH] f(x) B x-1 2 WHe 52 0(x), U121 S ROl 3
2 x- 12 U 534 U2 E X]—Eﬂilﬂ]—eﬂ]\/} 3t
® QO(x), R
® xQ(x),R

® xO(x)+R, R+3

@ Q(x), R+3
@ xQ(x), R+3



® 5-2i

@ 2+3i

® -3+
@ 1-3i

iy —1



23. Ads nol tiste] o2 A n(n 4 1)x - x+ 2006 = 0°] F +=
@, B o1t W, (@1 + ag + -+ + as006) + (B1 + B2 + -+ - + Ba2o0s)
&7

2004 2005 2006 2007 2007
@ 2006 @ 2006 ® 2007 @ 2008 2009



¥ -2x+a=09F
o]—h o|ZFHFA Alo] 52 —

-5t ?

o
=

a
bx

, et
+4 =

I, =

0ol

o},

T a+p, af

o uj,

A~
4%



25.

Y= x4 x+6 O TefImo} x Zof WAl

Y
24 o] b= £ A A, B oA x o £41
S 0] 1 ¢xu & 742 D, C g s,
;(_]D _/‘I X _L]. =S m O]E}'_]_L St Hﬂ oABCD
1 B =
AEﬂqﬂQAAﬂQOK <m<3) 1
JcO
(m,0)
o U @ % ® 10 ® % ® 2



